g and g Time Signatures

In gtime: In g time:
3 means there are 3 beats per measure. b or ¥ = 1 beat ﬁ o b
8 means the 8th note b receives 1 beat. 1 2 3 1 2 3
Jor#:Zbeats aJ g
1 2 3 1 2 3
J-or-r=3beat54§—J' -
1 2 3 1 2 3
In gtime:

6 means there are 6 beats per measure. M ‘ J J :] J ’I
8 means the 8th note D receives 1 beat.

1 2 3 45 6 1 2 3 4 5 6

In § time:
.b Y J ¢ and J receive the same Jz J ” DY Jz g J} i
number of beats as in gtime. 1 2 3 4 5 6 | (1\ 2 3 4 5 6

In addition, 3 = 3 beats, J or = = 6 beats
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Exercises

n In the examples,
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measures with
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Note Rest Note Rest
E Complete the 0
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measures, using s T > y
one note or rest.
Write the beats,
then count and
CIap the rhy’thm . Mase Note Note Rest ]
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Remember that 2 or C time can be cut in half to ¢ or % time when
the composer wants the music to be performed at a fast tempo.

g and g Time Signatures at Fast Tempos

In fast § time:

§ and ‘é can also be performed at -bor ‘! = % beat l ’)
fast tempos: count each § measure ] - 1 beat } (1 p t o I

in 1 count and each g measure in

2 counts. J or g =% beat b [ )
There is a strong beat on 1 in g time J ﬁ_ 1 beat 1<
= | DI

and on beats 1 and 4 in 8 time. | (PO

Because the tempo is fast, it is only | I

necessary to count the strong beats. J , = =1 beat : l - il
1 1

In fast 8 time: ; I

(1 2 3 4 5 6
ﬁ % J tand J receive the same

number of beats as in 3 time. t \ ‘b t \ t I
In addition, 3 =1 beat, J or = = 2 beats |
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Exercise R T T R R T T YRR e
n Write the strong beats below the notes in a fast tempo.
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E Write the correct time signature and the strong beats below the notes in a fast tempo.
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Eighth Note Triplets

When three notes are grouped together with a figure “3” above or below the notes, the
group is called a TRIPLET. The 3 notes are played in the time of 2 notes of the same value.
It is similar to playing § and g‘ at fast tempos.

3
Count: trip- a - let 1 & o
or: 1 trip-let

8th NOTE TRIPLETS

A

March (from the “Nutcracker Suite”) Peter Ilyich Tchaikovsky (1840-1893)
n_#
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1 & 2 trip-let 3 & 4 & 1 & 2 & 3 & 4 &
Arabesque No. 1 ' % Claude Debussy (1862-1918)
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1 & 2 trip-let 3 trip-let 4 trip-let 1 trip-let 2 & 3 & 4 & 1 &

Exercises B

n For each example, add bar lines, write the beats under the notes and clap the rhythm.
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a Complete the incomplete measures below with eighth note triplets. Count and clap the rhythm.
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LEssON 46

Incomplete Measures (Pick—up Notes) e

Some pieces begin with an incomplete measure. This note (or notes) is known as a PICK-UP NOTE.
The following piece has only 1 beat in the first measure. The missing 2 beats are found in the last measure.

Carnival of Venice Italian Folk Song
AModerato Il. | Fz |
?ﬂ(‘ . g 3 y 2 yi y 2 i | y 2
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Syncopation

When the accent in a musical passage falls on the weak beat (&)
rather than the strong beat (1, 2, etc.), it is called SYNCOPATION.

NI Y P Y YE Y

1 & 2 & 3 & &2 &3 &4 &

Exercises e s =2 et s e TR

n Fill in the last measure of each example with the correct note value for the given note name.

We Wish You A Merry Christmas Traditional Carol
[a) — T ~ —.
_* o ~ o N - & ¥
a. —_ =] | @ —
D) C
Auld Lang Syne Scottish Folk Song
b, ) ) =1 = - i o e
. 7 D < J
C

n Add bar lines and write the beats under each measure.
Count and clap the rhythm.
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Track 67
n Listen to the example. Fill in the missing note and value in the last measure.
Johannes Brahms (1833-1897)

[1. | [2.

Symphony No. 1
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Track 68
a Listen to the example in a fast 3 time. It is counted in 1 and includes a 2-measure count-off.

We Three Kings of Orient Are

Moderato Traditional Carol
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Track 69

B Listen to the rhythm pattern. Write the missing rhythm in the 3rd measure using the note C.
The example will be played twice.
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Track 70
n Listen to the example in a fast ‘é time. It is counted in 2 and includes a 1-measure count-off.

For He’s a Jolly Good Fellow

Allegro moderato (fast tempo) English Folk Song
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Track 71

H Listen to the rhythm pattern. Write the missing rhythm in the 3rd measure using the note C.
The example will be played twice.

Fast tempo
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Track 72

ﬂ Listen to the m pattern in the following example. There will be a 3-beat count-off.

Triumphal March (from “Aida”) Giuseppe Verdi (1813-1901)
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Track 73

Listen to the rhythm pattern. Write the missing rhythm in the 3rd measure using the note B).
The example will be played twice.
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a.

b.

n When the first measure is incomplete, the beginning notes are called

ReviEw oF LESSONS 43-46

notes.

H Complete the last measure with the correct note value for the given note name.

Star Song Austrian Folk Song
| N
,\(97; 9 -o—o—o—| g o —
& x4 @ o A

When the accent falls on
the weak beat, it is called

8
9

At fast tempos, g is counted in

Take Me Out to the Ball Game

Fill in note values to
create syncopation and
complete the measure.

For g time, write the total number of beats.

T, R e

, and ﬁ is counted in

D)

T

1 & (2 & 3 &

What type of note receives 1 beat in § and gtime signatures? (Circle one) J 'b J J o

& drstlleman oo

At fast tempos, the note that is counted in 1 count in § and ‘§ time is: (circle one) J J gl .b o

Add bar lines and beats below the notes for the following examples at slow tempos.

Albert von Tilzer (1873-1956)
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The Flower Puerto Rican Game Song

[a)

7
i . ) | 7]
1rs [ 7 I 1

& 1

o

Three notes grouped together, which are played in the time of two notes of the same value,

are called a

m Complete the incomplete measures below with 8th note triplets. Add beats below the notes.
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